PRIMARY THREE - ENGLISH MATHS
1996 2019-2020 ACADEMIC YEAR

Date: Vhursday 16™ April 2020

1) Write the two missing digits to make this addition correct.
8 3
+1 B
9 8

2) Harry is 19 years old.His granddad is 56 years older than Har'r'y
How old is Harry's granddad? 4

56 + 19 = 75

3) Write the missing number.

170 is 40 more “rhan: 130

256 | is40 more than 21¢

»
>

865 S 170 more than | 695

Lt

4) Below is an addition pyramid.To find the numbers in a block, add the
numbers in the two blocks. Find the missing numbers in this addition

pyramid.

25 46 38 74




5) Find the sum of 1608 and 777.

1608 + 777 = 2385

6) Chris buys an apple for 41p and a banana for 27p .How much more does
the apple cost than the banana?

41 -.27 = 14p. | 8 :“L

7) Write the two missing digits to make this subtraction correct.

9 | 6
_ 14| 2
5 4

8) Write the number which is seventeen less than five hundred and four.

P 2%;: ) s

9) Work out the difference between 4500 and 750. j " ’{
;’&@6 % i’éi

504 - 17 = 487

4500 - 750 = 3750

10) Write in figures and find the answer.
a) Sixty-eight plus ninety-nine.
68 + 99 = 167
b) Four hundred and four subtract thirteen.

404 - 13 = 391
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